



## Hyper equality ideals: Basic properties

A. Paad<sup>1</sup> and M. Bakhshi<sup>2</sup>

<sup>1,2</sup>*Department of Mathematics, University of Bojnord, Bojnord, Iran*

akbar.paad@gmail.com, bakhshi@ub.ac.ir

### Abstract

In this paper, the concept of (strong) hyper equality ideals in bounded hyper equality algebras are introduced and several properties and related results are given. Also, the properties of hyper equality ideals of the direct product of bounded hyper equality algebras are investigated; we prove that any (strong) hyper equality ideal of the direct product of hyper equality algebras is representable with respect to the product of (strong) hyper equality ideals of any direct component. In the sequel, we investigate the relationships between hyper equality ideals and hyper deductive systems in good bounded hyper equality algebras. Furthermore, we show how one can construct a hyper congruence relation via a strong hyper equality ideal so that the congruence classes form a hyper equality algebra.

### Article Information

Corresponding Author:  
M. Bakhshi;  
Received: April 2020;  
Accepted: Invited paper.  
Paper type: Original.

### Keywords:

(Involutive) Hyper equality algebra, (strong) hyper equality ideal, hyper congruence, direct product.



## 1 Introduction

Jenei [7] introduced the notion of an equality algebra as a candidate for possible algebraic semantics of fuzzy type theory similar to EQ-algebras [9], but without product. Many researchers have studied on equality algebras and obtained interesting results (see [2, 3, 5, 11, 12]). Paad [10] introduced the notion of an ideal in bounded equality algebras. He gave the relationships between ideals and filters in equality algebras. He also introduced the notions of prime ideals and Boolean ideals and investigated the related properties.

Cheng et. al. introduced the notion of a hyper equality algebra inspired by the work of Marty [8], who, for the first time, introduced the notion of an algebraic hyperstructure. They also introduced the notion of hyper deductive systems and hyper filters and gave some related results. They also introduced the notion of a (strong) hyper congruence in hyper equality algebras and show that the congruence classes of hyper congruence can form a hyper equality algebra provided that an additional property is assumed; they called it regularity. But there's still an important

question. What is the relationship between (strong) hyper equality deductive systems and hyper congruences? More closely, how we can construct a hyper congruence by (strong) hyper deductive systems so that the congruence classes form a hyper equality algebra?

In this paper, inspired by Paad's work ([10]), we introduce the notion of (strong) hyper equality ideals in bounded hyper equality algebras and give several properties and results. We also obtain the relationships between strong hyper equality ideals and hyper deductive systems in bounded hyper equality algebras. In the sequel, we answer to the above mentioned questions. We construct a hyper congruence relation by strong hyper equality ideal and show that the congruence classes together with the induced operations, under suitable conditions, from the previous ones form a hyper equality algebra.

## 2 Preliminaries

In this section, we give some fundamental results from the literature. We assumed that the reader is familiar to the basic properties of algebraic hyperstructures. For more details, we refer to the references [4, 6].

**Definition 2.1.** *A hyper equality algebra is a quadruple  $H = (H; \wedge, \sim, 1)$  constitutes a nonempty set  $H$ , a binary operation  $\wedge$ , a binary hyperoperation  $\sim$  and a constant  $1 \in H$  such that for all  $x, y, z \in H$  the following properties hold:*

(HE1)  $(H; \wedge)$  is a meet-semilattice with top element 1, where the induced partial ordering is  $x \leq y \Leftrightarrow x \wedge y = x$ ,

(HE2)  $x \sim y \ll y \sim x$ ,

(HE3)  $1 \in x \sim x$ ,

(HE4)  $x \in 1 \sim x$ ,

(HE5)  $x \leq y \leq z$  implies  $x \sim z \ll y \sim z$  and  $x \sim z \ll x \sim y$ ,

(HE6)  $x \sim y \ll (x \wedge z) \sim (y \wedge z)$ ,

(HE7)  $x \sim y \ll (x \sim z) \sim (y \sim z)$ ,

where  $A \ll B$  is defined by for all  $x \in A$  there exists  $y \in B$  such that  $x \leq y$ .

In any hyper equality algebra  $H$  for all  $x, y \in H$ , the auxiliary hyperoperation  $\rightarrow$  is defined as  $x \rightarrow y := x \sim (x \wedge y)$ . Moreover, for any nonempty subsets  $A, B \subseteq H$ , we write

$$A \wedge B = \{a \wedge b : a \in A, b \in B\} \text{ and } A * B = \bigcup_{a \in A, b \in B} a * b \text{ for } * \in \{\sim, \rightarrow\}.$$

Hyper equality algebra  $H$  is said to be

- *bounded* if it has a bottom element 0 (with respect to the order  $\leq$ ). In this case, the set  $x \rightarrow 0 = x \sim 0$  is denoted by  $\neg x$ ,
- *good* if  $x = 1 \sim x$ , for all  $x \in H$ ,
- *symmetric* if  $x \sim y = y \sim x$ , for all  $x, y \in H$ .

**Proposition 2.2.** *In any hyper equality algebra  $H$ , for any  $x, y, z \in H$  and  $A, B \subseteq H$  the following properties hold:*

- (1)  $x \ll y \rightarrow x$ ,  $x \sim y \ll x \rightarrow y$  and  $x \sim y \ll y \rightarrow x$ .
- (2)  $x \leq y$  implies  $1 \in x \rightarrow y$ .

- (3)  $x \leq y$  implies  $z \rightarrow x \ll z \rightarrow y$  and  $y \rightarrow z \ll x \rightarrow z$ . Particularly,  $x \leq y$  implies that  $\neg y \ll \neg x$ .
- (4)  $x \rightarrow y \ll (y \rightarrow z) \rightarrow (x \rightarrow z)$ . Particularly,  $x \rightarrow y \ll \neg y \rightarrow \neg x$ .
- (5)  $A \sim B \ll B \sim A$  and  $A \ll B \rightarrow A$ .
- (6)  $A \ll B$  and  $B \ll C$  imply  $A \ll C$ .
- (7)  $A \subseteq B$  implies that  $A \ll B$ .
- (8) If  $H$  is good, then
- (8a)  $x \ll (x \rightarrow y) \rightarrow y$ . Particularly,  $x \ll \neg\neg x$ .
- (8b)  $x \ll y \rightarrow z$  if and only if  $y \ll x \rightarrow z$ .
- (8c)  $x \rightarrow (y \rightarrow z) \ll y \rightarrow (x \rightarrow z)$ .

**Definition 2.3.** Let  $D$  be a nonempty subset of hyper equality algebra  $H$ .  $D$  is called a strong hyper deductive system if for all  $x, y \in H$ , it satisfies in the following condition:

- (Shd)  $1 \in D$ ,  
 (Shd) if  $x \in D$  and  $x \rightarrow y \cap D \neq \emptyset$ , then  $y \in D$ .

It should be observe that any strong hyper deductive system  $F$  is an upper set; i.e., if  $x \leq y$  and  $x \in F$ , then  $y \in F$ .

Assume that  $\theta$  is a binary relation in  $H$  and  $A, B \subseteq H$ . Then

- $A\bar{\theta}B$  means that for any  $a \in A$  there exists  $b \in B$  such that  $a\theta b$  and for any  $b \in B$  there exists  $a \in A$  such that  $a\theta b$ .
- $A\bar{\bar{\theta}}B$  means that for any  $a \in A$  and any  $b \in B$ ,  $a\theta b$ .

The notion of a congruence (or hyper congruence in [4]) relation in a hyper equality algebra  $H$  is defined as an equivalence relation  $\theta$  which is compatible with respect to  $\wedge$  and  $\sim$ . More closely, if  $\theta$  is an equivalence relation in hyper equality algebra  $H$ , then  $\theta$  is called a

- hyper congruence relation if for all  $x, y, u, v \in H$ ,  $x\theta y$  and  $u\theta v$  imply  $(x \sim u)\bar{\theta}(y \sim v)$  and  $(x \wedge u)\theta(y \wedge v)$ .
- strong hyper congruence relation if for all  $x, y, u, v \in H$ ,  $x\theta y$  and  $u\theta v$  imply  $(x \sim u)\bar{\bar{\theta}}(y \sim v)$  and  $(x \wedge u)\theta(y \wedge v)$ .

**Note.** It is easy to see that every strong hyper congruence relation is a hyper congruence relation.

Let  $\theta$  be a hyper congruence relation in hyper equality algebra  $H$ ,  $H/\theta = \{[x]_\theta : x \in H\}$ , the set of all congruence classes  $[x]_\theta$ , and  $[A]_\theta = \{[a]_\theta : a \in A\}$ , for  $A \subseteq H$ . Also, assume that the (hyper) operations  $\bar{\sim}$ ,  $\bar{\rightarrow}$  and  $\bar{\wedge}$  on  $H/\theta$  are defined as follows,

$$[x]_\theta \bar{\sim} [y]_\theta = [x \sim y] = \{[a]_\theta : a \in x \sim y\}, \quad [x]_\theta \bar{\rightarrow} [y]_\theta = [x \rightarrow y]_\theta = \{[a]_\theta : a \in x \rightarrow y\},$$

$$[x]_\theta \wedge [y]_\theta = [x \wedge y]_\theta,$$

respectively. Two binary relations are induced; the partial ordering  $\leq_\theta$  as

$$[x]_\theta \leq_\theta [y]_\theta \Leftrightarrow [x]_\theta = [x]_\theta \wedge [y]_\theta \Leftrightarrow (x \wedge y)\theta x, \forall [x]_\theta, [y]_\theta \in H/\theta,$$

and the binary relation  $\ll_\theta$  on  $P^*(H/\theta)$ , the set of all nonempty subsets of  $H/\theta$ , as

$$\forall A, B \subseteq H/\theta, A \ll_\theta B \Leftrightarrow (\forall [a]_\theta \in A, \exists [b]_\theta \in B) [a]_\theta \leq_\theta [b]_\theta.$$

In general,  $\leq_\theta$  does not imply  $\ll_\theta$ , otherwise  $\theta$  is called regular.

**Theorem 2.4.** *If  $\theta$  is a regular hyper congruence relation in hyper equality algebra  $(H; \sim, \wedge, 1)$ , then  $(H/\theta; \bar{\sim}, \bar{\wedge}, [1])$  is a hyper equality algebra.*

In this paper, all hyper equality algebras are bounded and  $H = (H, \wedge, \sim, 1)$  will denote such a bounded hyper equality algebra, unless otherwise stated.

### 3 Hyper equality ideals

In this section, we introduce the concept of a hyper equality ideal in bounded hyper equality algebras and we give some related results.

We first give some properties which follows directly from Definition 2.1 and Proposition 2.2. So, the proofs are left to the reader.

**Proposition 3.1.** *In any hyper equality algebra  $H$ , for all  $A, B, C \subseteq H$ , the following properties hold:*

- (1)  $A \ll B$  implies that  $1 \in A \rightarrow B$ .
- (2)  $A \sim B \ll A \rightarrow B$ .
- (3)  $A \rightarrow B \ll (B \rightarrow C) \rightarrow (A \rightarrow C)$ . Particularly,  $A \rightarrow B \ll \neg B \rightarrow \neg A$ .
- (4) If  $A \ll B$ , then there exists  $b \in B$  such that  $\neg b \ll \neg A$ .
- (5)  $A \sim B \ll (A \sim C) \sim (B \sim C)$ . Particularly,  $A \sim B \ll \neg A \sim \neg B$ .
- (6) If  $H$  is good, then
  - (6a)  $A \ll (A \rightarrow B) \rightarrow B$ ,
  - (6b)  $A \rightarrow (B \rightarrow C) \ll B \rightarrow (A \rightarrow C)$ ,
  - (6c) If  $A \ll B \rightarrow C$ , then there exists  $b \in B$  such that  $b \ll A \rightarrow C$ .
  - (6d)  $\neg x \ll \neg\neg(\neg x \rightarrow \neg y) \rightarrow \neg y$ .
  - (6e) There exists  $b \in \neg\neg(\neg x \rightarrow \neg y)$  such that  $b \ll \neg x \rightarrow \neg y$ .

**Definition 3.2.** *Let  $I$  be a down set of  $H$ ; i.e.,*

$$(HI) \quad x \leq y \text{ and } y \in I \text{ imply } x \in I, \text{ for all } x, y \in H.$$

$I$  is called a

- hyper equality ideal if  $x, y \in I$  imply  $\neg x \rightarrow y \subseteq I$ , for all  $x, y \in H$ .
- strong hyper equality ideal if  $x, y \in I$  imply  $(\neg x \rightarrow y) \cap I \neq \emptyset$ , for all  $x, y \in H$ .

From (hi), it is obvious that any (strong) hyper equality ideal contains the bottom element 0.

**Example 3.3.** Let  $H = \{0, a, b, 1\}$ . Define the operation  $\wedge$  and hyper operation  $\sim$  on  $H$  as the following tables:

$\wedge$	0	a	b	1	$\sim$	0	a	b	1
0	0	0	0	0	0	{1}	{1}	{b, 1}	{0, a}
a	0	a	0	a	a	{1}	{1}	{a, 1}	{a}
b	0	0	b	b	b	{b, 1}	{a, 1}	{1}	{b, 1}
1	0	a	b	1	1	{0, a}	{a}	{b, 1}	{1}

Then  $(H, \wedge, \sim, 0, 1)$  is a bounded hyper equality algebra (see [4]). Routine calculations show that  $I = \{0, a\}$  is a hyper equality ideal and  $J = \{0, a, b\}$  is a strong hyper equality ideal of  $H$  which is not a hyper equality ideal. Because,  $a, b \in J$  while  $\neg b \rightarrow a = \{a, b, 1\} \not\subseteq J$ .

**Lemma 3.4.** Let  $I$  be a hyper equality ideal and  $A$  and  $B$  be nonempty subsets of  $H$ . Then

- (1)  $A \ll B$  and  $B \subseteq I$  imply  $A \subseteq I$ .
- (2)  $A \ll I$  implies that  $A \subseteq I$ .
- (3) If  $A, B \subseteq I$ , then  $\neg A \rightarrow B \subseteq I$ .

*Proof.* Straightforward. □

**Theorem 3.5.** In  $H$ , the following statements hold.

- (1) Every hyper equality ideal of  $H$  is a strong hyper equality ideal.
- (2) If  $I$  is a (strong) hyper equality ideal of  $H$  and  $x \in I$ , then  $\neg\neg x \subseteq I$  ( $\neg\neg x \cap I \neq \emptyset$ ).
- (3) Assume that  $H$  is good and  $I$  is a hyper equality ideal of  $H$ . If  $\neg\neg x \subseteq I$  (or  $\neg\neg x \ll I$ ), then  $x \in I$ .

*Proof.* (1) and (2) follow from Lemma 3.4.

To prove (3) and (4), it suffices to take,  $y = 0$ , in Definition 3.2. □

### 3.1 Hyper equality ideals and hyper deductive systems

**Definition 3.6.** For nonempty subset  $X$  of bounded hyper equality algebra  $H$ , we define the set  $N(X)$  as follows:

$$N(X) = \{a \in H \mid \neg a \cap X \neq \emptyset\}.$$

It must be noticed that if  $I$  is a (strong) hyper equality ideal, then  $N(I) \neq \emptyset$ . In fact, from  $0 \in I$  and  $0 \in 1 \sim 0 = 1 \rightarrow 0 = \neg 0$ , it follows that  $0 \in \neg 1 \cap I$ , whence  $1 \in N(I)$ . By a similar way, it is proved that for a strong hyper deductive system  $F$  of  $H$ ,  $0 \in N(F)$ . Furthermore, it is obvious that  $A \cap N(X) \neq \emptyset$  implies that  $\neg A \cap X \neq \emptyset$ , for all  $A \subseteq H$ .

**Definition 3.7.** A nonempty subset  $D$  of hyper equality algebra  $H$  is called

- (i) *absorptive* if  $\neg A \cap D \neq \emptyset$  implies that  $\neg A \subseteq D$ , for any  $A \subseteq H$ ,
- (ii)  *$\neg$ -absorptive* if  $(\neg x \rightarrow y) \cap D \neq \emptyset$  implies that  $\neg x \rightarrow y \subseteq D$ , for any  $x, y \in H$ .

**Example 3.8.** Consider the hyper equality algebra  $(H; \wedge, \sim, 1)$ , where  $H = \{0, a, 1\}$  is a chain with  $0 < a < 1$  and operation  $\wedge$  and hyper operation  $\sim$  are defined as follows:

$$x \wedge y = \min\{x, y\} \quad \text{and} \quad \begin{array}{c|ccc} \sim & 0 & a & 1 \\ \hline 0 & \{1\} & \{0\} & \{0\} \\ a & \{0\} & \{1\} & \{a, 1\} \\ 1 & \{0\} & \{a, 1\} & \{1\} \end{array}$$

(see [4]). It is not difficult to verify that the set  $D = \{0, 1\}$  is absorptive and also  $\neg$ -absorptive.

As a direct consequence of Definition 3.7 we conclude that

**Theorem 3.9.** Every  $\neg$ -absorptive strong hyper equality ideal is a hyper equality ideal.

**Proposition 3.10.** Let  $I$  be a nonempty subset of  $H$ . The followings are equivalent:

- (1) If  $x \in I$  and  $\neg(\neg x \rightarrow \neg y) \cap I \neq \emptyset$ , then  $y \in I$ , for any  $x, y \in H$ .
- (2) If  $A \subseteq I$  and  $\neg(\neg A \rightarrow \neg B) \cap I \neq \emptyset$ , then  $B \cap I \neq \emptyset$ , for any  $A, B \subseteq H$ .

*Proof.* (1)  $\Rightarrow$  (2) Assume that  $A \subseteq I$  and  $\neg(\neg A \rightarrow \neg B) \cap I \neq \emptyset$ , for  $A, B \subseteq H$ . Then there exists  $i \in I$ ,  $a \in A \subseteq I$  and  $b \in B$  such that  $i \in \neg(\neg a \rightarrow \neg b)$ . By (1), we get  $b \in I$ , hence  $B \cap I \neq \emptyset$ .

(2)  $\Rightarrow$  (1) Obvious.  $\square$

**Theorem 3.11.** Let  $H$  be a good bounded hyper equality algebra and  $I$  be an absorptive nonempty subset of  $H$ . Then  $I$  is a strong hyper equality ideal if and only if

- (1)  $0 \in I$ ,
- (2)  $x \in I$  and  $\neg(\neg x \rightarrow \neg y) \cap I \neq \emptyset$  imply  $y \in I$ , for any  $x, y \in H$ .

*Proof.* Let  $I$  be an absorptive strong hyper equality ideal of  $H$ . We know that  $0 \in I$ . Let  $x \in I$  and  $\neg(\neg x \rightarrow \neg y) \cap I \neq \emptyset$ , for  $x, y \in H$ . Then  $\neg(\neg x \rightarrow \neg y) \subseteq I$ . By Proposition 3.1(6b) we have

$$\neg x \rightarrow \neg y = \neg x \rightarrow (y \rightarrow 0) \ll y \rightarrow (\neg x \rightarrow 0) = y \rightarrow \neg \neg x,$$

and so by Proposition 3.1(6c) and (6b) we get

$$y \ll (\neg x \rightarrow \neg y) \rightarrow \neg \neg x = (\neg x \rightarrow \neg y) \rightarrow (\neg x \rightarrow 0) \ll \neg x \rightarrow \neg(\neg x \rightarrow \neg y).$$

Now, since  $\{x\} \subseteq I$  and  $\neg(\neg x \rightarrow \neg y) \subseteq I$ , by Lemma 3.4(3) we get  $\neg x \rightarrow \neg(\neg x \rightarrow \neg y) \subseteq I$ , thus by Lemma 3.4(1) it follows that  $y \in I$ .

Conversely, assume that  $I$  satisfies the given conditions, and  $x \leq y$  and  $y \in I$ , for  $x, y \in H$ . By Proposition 2.2(3) we have  $\neg y \ll \neg x$  and so by Proposition 3.1(1) we have  $0 \in \neg 1 \subseteq \neg(\neg y \rightarrow \neg x)$ , which implies that  $\neg(\neg y \rightarrow \neg x) \cap I \neq \emptyset$ . By (2), we conclude that  $x \in I$ , proving (HI). Now, let  $x, y \in I$ . By Proposition 3.1(3) we have  $(\neg x \rightarrow y) \rightarrow y \ll \neg y \rightarrow \neg(\neg x \rightarrow y)$  and so by Proposition 3.1(4) there exists  $b \in \neg y \rightarrow \neg(\neg x \rightarrow y)$  such that

$$\neg b \ll \neg((\neg x \rightarrow y) \rightarrow y). \quad (3.1)$$

Also by Proposition 3.1(6a) we have  $\neg x \ll (\neg x \rightarrow y) \rightarrow y$ , hence by Proposition 3.1(4),

$$\neg w \ll \neg \neg x, \quad (3.2)$$

for some  $w \in (\neg x \rightarrow y) \rightarrow y$ . Again, by Proposition 3.1(6a) we have  $\neg x \ll \neg\neg\neg x$  and so  $0 \in \neg 1 \subseteq \neg(\neg x \rightarrow \neg\neg\neg x)$ . This implies that  $\neg(\neg x \rightarrow \neg\neg\neg x) \cap I \neq \emptyset$  and since  $x \in I$ , by Proposition 3.10 we get  $\neg\neg x \cap I \neq \emptyset$ , and so  $\neg\neg x \subseteq I$ . Combining (3.2) and Lemma 3.4(1), we conclude that  $\neg w \subseteq I$ , thus  $\neg((\neg x \rightarrow y) \rightarrow y) \cap I \neq \emptyset$ . Hence,  $\neg((\neg x \rightarrow y) \rightarrow y) \subseteq I$ , and by (3.1) we conclude that  $\neg b \subseteq I$ . This implies that  $\neg(\neg y \rightarrow \neg(\neg x \rightarrow y)) \cap I \neq \emptyset$ . Now, from  $y \in I$ , by Proposition 3.10, we get  $\neg x \rightarrow y \cap I \neq \emptyset$ , and so  $\neg x \rightarrow y \subseteq I$ . Therefore,  $I$  is a hyper equality ideal of  $H$  and so is a strong hyper equality ideal.  $\square$

**Theorem 3.12.** *Assume that  $H$  is a good bounded hyper equality algebra.*

- (1) *If  $F$  is an absorptive strong hyper deductive system of  $H$ ,  $N(F)$  is an absorptive strong hyper equality ideal of  $H$ .*
- (2) *If  $I$  is an absorptive strong hyper equality ideal of  $H$ ,  $N(I)$  is an absorptive strong hyper deductive system of  $H$ .*

*Proof.* (1) Assume that  $F$  is an absorptive strong hyper deductive system of  $H$ . We know that  $0 \in N(F)$ . Now, let  $x \in N(F)$  and  $\neg(\neg x \rightarrow \neg y) \cap N(F) \neq \emptyset$ . Then  $\neg\neg(\neg x \rightarrow \neg y) \cap F \neq \emptyset$  and since  $F$  is absorptive, we obtain that  $\neg\neg(\neg x \rightarrow \neg y) \subseteq F$ . By Proposition 3.1(6e), there exists  $b \in \neg\neg(\neg x \rightarrow \neg y)$  such that  $b \ll \neg x \rightarrow \neg y$ , whence  $(\neg x \rightarrow \neg y) \cap F \neq \emptyset$ . By hypothesis, we know that  $\neg x \cap F \neq \emptyset$  or in other words  $\neg x \subseteq F$ . By the definition of a strong hyper deductive system, it is easily verified that  $\neg y \cap F \neq \emptyset$ . This implies that  $y \in N(F)$  and so by Theorem 3.11,  $N(F)$  is a strong hyper equality ideal of  $H$ . To prove absorptivity, let  $\neg A \cap N(F) \neq \emptyset$ , for  $A \subseteq H$ . Then  $\neg\neg A \cap F \neq \emptyset$  and so  $\neg\neg A \subseteq F$ . Now, for any  $u \in \neg A$  we have  $\neg u \subseteq F$ , which means that  $u \in N(F)$ . Hence  $\neg A \subseteq N(F)$ .

(2) Assume that  $I$  is an absorptive strong hyper equality ideal of  $H$ . We know that  $1 \in N(I)$ . Let  $x \in N(I)$  and  $(x \rightarrow y) \cap N(I) \neq \emptyset$ . Then  $\neg(x \rightarrow y) \cap I \neq \emptyset$ , and so  $\neg(x \rightarrow y) \subseteq I$ . By Proposition 3.1(3), we know that  $x \rightarrow y \ll \neg y \rightarrow \neg x \ll \neg\neg x \rightarrow \neg\neg y$  and by Proposition 3.1(4), there exists  $b \in \neg\neg x \rightarrow \neg\neg y$  such that  $\neg b \ll \neg(x \rightarrow y) \subseteq I$ , whence by Lemma 3.4(1) we get  $\neg b \subseteq I$ . This implies that  $\neg(\neg\neg x \rightarrow \neg\neg y) \cap I \neq \emptyset$ . On the other hand, by hypothesis we know that  $\neg x \subseteq I$  and so by Proposition 3.10 and Theorem 3.11 we conclude that  $\neg y \cap I \neq \emptyset$ , which means that  $y \in N(I)$ . Therefore,  $N(I)$  is a strong hyper deductive system of  $H$ . Similar to the proof of part (1), it is proved that  $N(I)$  is absorptive.  $\square$

## 4 Direct products

Let  $H_1 = (H_1; \wedge_1, \sim_1, 1_1)$  and  $H_2 = (H_2; \wedge_2, \sim_2, 1_2)$  be two bounded hyper equality algebras and  $H = H_1 \times H_2$ . Also, let  $1 = (1_1, 1_2)$  and  $0 = (0_1, 0_2)$ . For  $A, C \subseteq H_1$  and  $B, D \subseteq H_2$ , let  $(A, B) = \{(a, b) \in H : a \in A, b \in B\}$  and consider the binary relation  $\ll$  on  $H$  defined as

$$(A, B) \ll (C, D) \Leftrightarrow A \ll_1 C, B \ll_2 D.$$

Routine verifications show that  $(H; \wedge, \sim, 1)$ , where the operation  $\wedge$  and the hyperoperation  $\sim$  on  $H$  are defined as

$$(x_1, y_1) \sim (x_2, y_2) := (x_1 \sim_1 x_2, y_1 \sim_2 y_2) \text{ and } (x_1, y_1) \wedge (x_2, y_2) := (x_1 \wedge_1 x_2, y_1 \wedge_2 y_2), \quad (4.1)$$

is a bounded hyper equality algebra. Observe that the partial ordering induced by  $\wedge$  is denoted by  $\leq$ . In fact,  $(a, b) \leq (c, d)$  if and only if  $a \leq_1 c$  and  $b \leq_2 d$ .

This definition can be generalized to any arbitrary family of bounded hyper equality algebras. To see this, let  $\{H_i\}_{i \in I}$  be a nonempty family of bounded hyper equality algebras and  $H = \prod_{i \in I} H_i$ . Also, let  $1 = \{1_i\}_{i \in I}$  and  $0 = \{0_i\}_{i \in I}$  and for  $A_i \subseteq H_i$ , let  $\{A_i\}_{i \in I} = \{\{a_i\}_{i \in I} : a_i \in A_i\}$ . Assume that the binary relation  $\ll$  on  $H$  is defined as

$$\{A_i\}_{i \in I} \ll \{B_i\}_{i \in I} \Leftrightarrow A_i \ll_i B_i, \forall i \in I.$$

Then  $(H; \sim, \wedge, 1)$  is a bounded hyper equality algebra, called the direct product of  $H_i$ 's, where

$$\{x_i\}_{i \in I} \sim \{y_i\}_{i \in I} = \{x_i \sim_i y_i\}_{i \in I}, \{x_i\}_{i \in I} \wedge \{y_i\}_{i \in I} = \{x_i \wedge_i y_i\}_{i \in I}.$$

**Example 4.1.** Let  $H = \{0, a, 1\}$  be a chain with the ordering  $0 < a < 1$ , and assume that two hyper operations  $\sim_1$  and  $\sim_2$  are defined as the following tables:

$\sim_1$	0	a	1	$\sim_2$	0	a	1
0	{1}	{0}	{0}	0	{1}	{a, 1}	{a, 1}
a	{0}	{1}	{a, 1}	a	{a, 1}	{0, a, 1}	{a, 1}
b	{0}	{a, 1}	{1}	b	{0, 1}	{a, 1}	{1}

Then  $(H; \wedge, \sim_1, 1)$  and  $(H; \wedge, \sim_2, 1)$  are hyper equality algebras (see[4]). Then  $H = H_1 \times H_2$  together with the (hyper) operation defined as (4.1) is a hyper equality algebra.

In the sequel, we investigate the structure of hyper equality ideals of the direct product of hyper equality algebras. Because of analogously and brevity, we only consider the direct product of only two hyper equality algebras.

**Theorem 4.2.** Let  $(H_1; \wedge_1, \sim_1, 1_1)$  and  $(H_2; \wedge_2, \sim_2, 1_2)$  be two bounded hyper equality algebras. If  $I_1$  and  $I_2$  are two (strong) hyper equality ideals of  $H_1$  and  $H_2$ , respectively, then  $I_1 \times I_2$  is a (strong) hyper equality ideal of  $H_1 \times H_2$ .

*Proof.* Let  $I_1$  and  $I_2$  be two hyper equality ideals of  $H_1$  and  $H_2$ , respectively and  $(a, b), (x, y) \in H_1 \times H_2$  such that  $(a, b) \leq (x, y)$  and  $(x, y) \in I_1 \times I_2$ . Then  $a \leq x \in I_1$  and  $b \leq y \in I_2$ , whence  $a \in I_1$  and  $b \in I_2$  and so  $(a, b) \in I_1 \times I_2$ . Now, let  $(x_1, x_2), (y_1, y_2) \in I_1 \times I_2$ . Then  $x_1, y_1 \in I_1$  and  $x_2, y_2 \in I_2$  and so  $\neg x_1 \rightarrow_1 y_1 \subseteq I_1$  and  $\neg x_2 \rightarrow_2 y_2 \subseteq I_2$ . This implies that

$$\neg(x_1, x_2) \rightarrow (y_1, y_2) = (\neg x_1 \rightarrow_1 y_1, \neg x_2 \rightarrow_2 y_2) \subseteq I_1 \times I_2.$$

Therefore,  $I_1 \times I_2$  is a hyper equality ideal of  $H_1 \times H_2$ .

The proof for strong hyper equality ideals is similar. □

**Theorem 4.3.** Let  $(H_1; \wedge_1, \sim_1, 1_1)$  and  $(H_2; \wedge_2, \sim_2, 1_2)$  be two good bounded hyper equality algebras and  $I$  be a ( $\neg$ -absorptive strong) hyper equality ideal of  $H_1 \times H_2$ . Then there are two unique ( $\neg$ -absorptive strong) hyper equality ideals  $I_1$  and  $I_2$  of  $H_1$  and  $H_2$ , respectively, such that  $I = I_1 \times I_2$ .

*Proof.* Assume that

$$\begin{aligned} I_1 &= \{x \in H_1 : (x, z) \in I, \text{ for some } z \in H_2\}, \\ I_2 &= \{y \in H_2 : (w, y) \in I, \text{ for some } w \in H_1\}. \end{aligned}$$

First of all, we observe that since  $(0, 0) \in I$ , so  $0_1 \in I_1$  and  $0_2 \in I_2$ , means that  $I_1$  and  $I_2$  are nonempty. Now, we prove that  $I_1$  and  $I_2$  are hyper equality ideals of  $H_1$  and  $H_2$ , respectively. Let  $x, y \in H_1$  such that  $x \leq y$  and  $y \in I_1$ . Then there exists  $z \in H_2$  such that  $(y, z) \in I$  and so



$(x, z) \in I$ , whence  $x \in I_1$ . Now, for  $x, y \in I_1$  there exist  $z_1, z_2 \in H_2$  such that  $(x, z_1), (y, z_2) \in I$  and so

$$(\neg x \rightarrow y, \neg z_1 \rightarrow z_2) = \neg(x, z_1) \rightarrow (y, z_2) \subseteq I.$$

Now, for any  $a \in \neg x \rightarrow y$  there exists  $c \in \neg z_1 \rightarrow z_2$  such that  $(a, c) \in I$  and so  $a \in I_1$ . This implies that  $\neg x \rightarrow y \subseteq I_1$ , proving  $I_1$  is a hyper equality ideal of  $H_1$ . Similarly, we can prove that  $I_2$  is a hyper equality ideal of  $H_2$ .

Now, assume that  $(t, w) \in I_1 \times I_2$ . Then there exist  $z_1 \in H_1$  and  $z_2 \in H_2$  such that  $(t, z_2), (z_1, w) \in I$ . From  $(t, 0) \leq (t, z_2)$  and  $(0, w) \leq (z_1, w)$  we have  $(t, 0), (0, w) \in I$  and so

$$(\neg\neg t, \neg 0 \rightarrow w) = \neg(t, 0) \rightarrow (0, w) \subseteq I.$$

On the other hand, since  $t \ll \neg\neg t$  we get  $t \leq k$ , for some  $k \in \neg\neg t$ , and so  $(t, w) \leq (k, w) \in (\neg\neg t, \neg 0 \rightarrow w) \subseteq I$ , whence  $(t, w) \in I$ . Thus  $I_1 \times I_2 \subseteq I$ . Obviously,  $I \subseteq I_1 \times I_2$ . Hence  $I = I_1 \times I_2$ . To prove uniqueness, let  $J_1$  and  $J_2$  be two hyper equality ideals of  $H_1$  and  $H_2$ , respectively, such that  $I = J_1 \times J_2$ . We show that  $I_1 = J_1$  and  $I_2 = J_2$ . For this, let  $x \in J_1$ . From  $(x, 0) \in J_1 \times J_2 = I$  we have  $x \in I_1$ , i.e.,  $J_1 \subseteq I_1$ . If  $x \in I_1$ , then there exists  $z \in H_2$  such that  $(x, z) \in I = J_1 \times J_2$ , and so  $x \in J_1$ . Hence  $I_1 \subseteq J_1$ . Thus  $I_1 = J_1$ . By similar way, it is proved that  $I_2 = J_2$ .

Finally, notice that if  $I$  is a  $\neg$ -absorptive strong hyper equality ideal, then it is a hyper equality ideal and so there exist two hyper equality ideals (and so strong hyper equality ideals, by Theorem 3.5(1))  $I_1$  and  $I_2$  such that  $I = I_1 \times I_2$ . It remains to prove that  $I_1$  and  $I_2$  are  $\neg$ -absorptive. For this, let  $A_1 \subseteq H_1$  such that  $\neg A_1 \cap I_1 \neq \emptyset$ . Then there exist  $i \in I_1$  and  $a \in A_1$  such that  $i \in \neg a$ . Now,  $(i, 0_2) \in (\neg a, 1 \rightarrow_2 0) \cap I$ , whence  $(\neg A_1, 1 \rightarrow_2 0) \cap I \neq \emptyset$  and so  $(\neg A_1, 1 \rightarrow_2 0) \subseteq I = I_1 \times I_2$ . This implies that  $\neg A_1 \subseteq I_1$ . Similarly, we can prove that  $I_2$  is  $\neg$ -absorptive.  $\square$

## 5 Congruences

We start this section by giving a result about hyper congruence relations.

**Proposition 5.1.** *Assume that  $H$  is a hyper equality algebra and  $\theta$  is a (strong) hyper congruence in  $H$ . Then  $[0]_\theta$  is a strong hyper ideal of  $H$ .*

*Proof.* Since every strong hyper congruence is a hyper congruence, it is enough to prove the proposition for hyper congruences. Suppose that  $\theta$  is a hyper congruence in  $H$  and  $x, y \in H$  such that  $x \leq y$  and  $y \in [0]_\theta$ . Then  $y\theta 0$  and since  $x\theta x$  we get  $x = x \wedge y\theta x \wedge 0 = 0$ ; i.e.,  $x \in [0]_\theta$ . Hence,  $[0]_\theta$  satisfies (H1). Now, let  $x, y \in [0]_\theta$ . Then  $x \sim 0\bar{0}0 \sim 0$  and since  $1 \in 0 \sim 0$ , there exists  $a \in \neg x$  such that  $a\theta 1$  and so  $a \wedge y\theta 1 \wedge y = y$ . On the other hand, from  $a\theta 1$  we have  $a \rightarrow y = a \sim (a \wedge y)\bar{\theta}1 \sim y$ . Since  $y \in 1 \sim y$ , there exists  $b \in a \rightarrow y \subseteq \neg x \rightarrow y$  such that  $b\theta y$ , whence  $b\theta 0$ ; i.e.,  $b \in [0]_\theta$ . This implies that  $(\neg x \rightarrow y) \cap [0]_\theta \neq \emptyset$ . Therefore,  $[0]_\theta$  is a strong hyper ideal of  $H$ .  $\square$

**Definition 5.2.** *A bounded hyper equality algebra  $(H; \sim, \wedge, 1)$  is called involutive, if  $x \in \neg\neg x$ , for all  $x \in H$ .*

**Example 5.3.** *Consider the hyper equality algebra  $(H; \sim, \wedge, 1)$ , where  $H = \{0, a, 1\}$  is a chain (with  $0 < a < 1$ ). Define the operation  $\wedge$  and the hyper operation  $\sim$  on  $H$  as follows:*

$$x \wedge y = \min\{x, y\} \text{ and } \begin{array}{c|ccc} \sim & 0 & a & 1 \\ \hline 0 & \{1\} & \{0, a\} & \{0\} \\ a & \{0, a\} & \{1\} & \{a\} \\ 1 & \{0\} & \{a\} & \{1\} \end{array}$$

(see [4]). Obviously,  $(H; \sim, \wedge, 1)$  is an involutive hyper equality algebra.

**Theorem 5.4.** Assume that  $H$  is a symmetric good involutive hyper equality algebra and  $I$  is an absorptive strong hyper ideal of  $H$ . Then the binary relation  $\equiv_I$  on  $H$  which is defined by

$$x \equiv_I y \text{ if and only if } \neg(\neg x \sim \neg y) \cap I \neq \emptyset$$

is a strong hyper congruence on  $H$ .

*Proof.* We first prove that  $\equiv_I$  is an equivalence relation. By (HE3)  $1 \in \neg x \sim \neg x$  and so  $0 \in \neg(\neg x \sim \neg x)$ , whence  $\neg(\neg x \sim \neg x) \cap I \neq \emptyset$ . This proves the reflexivity of  $\equiv_I$ . Symmetry is obvious, because  $H$  is symmetric.

Now, let  $x \equiv_I y$  and  $y \equiv_I z$ , for  $x, y, z \in H$ . Then  $\neg(\neg x \sim \neg y) \subseteq I$  and  $\neg(\neg y \sim \neg z) \subseteq I$ . By Proposition 3.1(2) we have

$$\neg\neg(\neg y \sim \neg x) \sim \neg\neg(\neg z \sim \neg x) \ll \neg\neg(\neg y \sim \neg x) \rightarrow \neg\neg(\neg z \sim \neg x),$$

and so by Proposition 3.1(4), there exists  $b \in \neg\neg(\neg y \sim \neg x) \rightarrow \neg\neg(\neg z \sim \neg x)$  such that

$$\neg b \ll \neg(\neg\neg(\neg y \sim \neg x) \sim \neg\neg(\neg z \sim \neg x)).$$

By Proposition 3.1(5), we have

$$(\neg y \sim \neg x) \sim (\neg z \sim \neg x) \ll \neg\neg(\neg y \sim \neg x) \sim \neg\neg(\neg z \sim \neg x).$$

Now, by Proposition 3.1(4), there exists  $w \in \neg\neg(\neg y \sim \neg x) \sim \neg\neg(\neg z \sim \neg x)$  such that

$$\neg w \ll \neg((\neg y \sim \neg x) \sim (\neg z \sim \neg x)). \quad (5.1)$$

From Proposition 3.1(5) we have

$$\neg y \sim \neg z \ll (\neg y \sim \neg x) \sim (\neg z \sim \neg x)$$

and so there exists  $p \in (\neg y \sim \neg x) \sim (\neg z \sim \neg x)$  such that  $\neg p \ll \neg(\neg y \sim \neg z)$ . Now, since  $\neg(\neg y \sim \neg z) \subseteq I$  we get  $\neg p \subseteq I$ , and by Lemma 3.4(1),  $\neg((\neg y \sim \neg x) \sim (\neg z \sim \neg x)) \cap I \neq \emptyset$  and so

$$\neg((\neg y \sim \neg x) \sim (\neg z \sim \neg x)) \subseteq I. \quad (5.2)$$

Combining (5.1), (5.2) and Lemma 3.4(1) we get  $\neg w \subseteq I$ , whence  $\neg(\neg\neg(\neg y \sim \neg x) \sim \neg\neg(\neg z \sim \neg x)) \cap I \neq \emptyset$ . Since  $\neg(\neg y \sim \neg x) \subseteq I$ , by Proposition 3.10, we conclude that  $\neg(\neg z \sim \neg x) \cap I \neq \emptyset$  and so  $x \equiv_I z$ , proving  $\equiv_I$  is transitive. Thus  $\equiv_I$  is an equivalence relation.

Now, we prove that  $\equiv_I$  is compatible. Let  $x, y, z \in H$  and  $x \equiv_I y$ . Then  $\neg(\neg x \sim \neg y) \cap I \neq \emptyset$  and so  $\neg(\neg x \sim \neg y) \subseteq I$ . Since  $H$  is involutive, we have  $x \in \neg\neg x$  and  $y \in \neg\neg y$  and so  $x \sim y \subseteq \neg\neg x \sim \neg\neg y$ . Hence,

$$\neg(x \sim y) \subseteq \neg(\neg\neg x \sim \neg\neg y). \quad (5.3)$$

By Proposition 3.1(5) we have

$$(x \wedge z) \sim (y \wedge z) \ll \neg(x \wedge z) \sim \neg(y \wedge z)$$

and so by Proposition 3.1(4), there exists  $b \in \neg(x \wedge z) \sim \neg(y \wedge z)$  such that

$$\neg b \ll \neg((x \wedge z) \sim (y \wedge z)). \quad (5.4)$$

On the other hand, we know that  $x \sim y \ll (x \wedge z) \sim (y \wedge z)$ , by (HE6). Hence, there exists  $w \in (x \wedge z) \sim (y \wedge z)$  such that  $\neg w \ll \neg(x \sim y)$ , then by (5.3) we get

$$\neg w \ll \neg(\neg x \sim \neg y). \quad (5.5)$$

Now, by Proposition 3.1(5) we have  $\neg x \sim \neg y \ll \neg \neg x \sim \neg \neg y$ , and so there exists  $p \in \neg \neg x \sim \neg \neg y$  such that  $\neg p \ll \neg(\neg x \sim \neg y)$ . Since  $\neg(\neg x \sim \neg y) \subseteq I$  we get  $\neg p \subseteq I$  and so  $\neg(\neg \neg x \sim \neg \neg y) \subseteq I$ . By (5.5) we obtain that  $\neg w \subseteq I$  and so  $\neg((x \wedge z) \sim (y \wedge z)) \cap I \neq \emptyset$ . Hence,  $\neg((x \wedge z) \sim (y \wedge z)) \subseteq I$  and by (5.4) we get  $\neg b \subseteq I$ . Since  $b \in \neg(x \wedge z) \sim \neg(y \wedge z)$ , we have

$$\neg(\neg(x \wedge z) \sim \neg(y \wedge z)) \cap I \neq \emptyset,$$

means that  $x \wedge z \equiv_I y \wedge z$ . Now, if  $a \equiv_I b$  and  $c \equiv_I d$ , then  $a \wedge c \equiv_I b \wedge c$  and  $b \wedge c = c \wedge b \equiv_I d \wedge b = b \wedge d$  and so by transitivity we get  $a \wedge c \equiv_I b \wedge d$ .

Now, let  $x, y, z \in H$  and  $x \equiv_I y$ . From  $x \in \neg \neg x$  and  $y \in \neg \neg y$ , we get  $x \sim y \subseteq \neg \neg x \sim \neg \neg y$  and so

$$\neg(x \sim y) \subseteq \neg(\neg \neg x \sim \neg \neg y). \quad (5.6)$$

By Proposition 3.1(7) we have

$$(x \sim z) \sim (y \sim z) \ll \neg(x \sim z) \sim \neg(y \sim z) \quad (5.7)$$

and so by Proposition 3.1(6), there exists  $t \in \neg(x \sim z) \sim \neg(y \sim z)$  such that

$$\neg t \ll \neg((x \sim z) \sim (y \sim z)).$$

Now, from (HE7) we know that  $x \sim y \ll (x \sim z) \sim (y \sim z)$ , and so there exists  $k \in (x \sim z) \sim (y \sim z)$  such that  $\neg k \ll \neg(x \sim y)$ . By (5.6) we get

$$\neg k \ll \neg(\neg \neg x \sim \neg \neg y).$$

From Proposition 3.1(7) we have  $\neg x \sim \neg y \ll \neg \neg x \sim \neg \neg y$ , and so there exists  $v \in \neg \neg x \sim \neg \neg y$  such that  $\neg v \ll \neg(\neg x \sim \neg y) \subseteq I$ , whence  $\neg v \subseteq I$ . This implies that  $\neg(\neg \neg x \sim \neg \neg y) \cap I \neq \emptyset$  and so  $\neg(\neg \neg x \sim \neg \neg y) \subseteq I$ . Then  $\neg k \subseteq I$ , thus  $\neg((x \sim z) \sim (y \sim z)) \cap I \neq \emptyset$  and so

$$\neg((x \sim z) \sim (y \sim z)) \subseteq I. \quad (5.8)$$

Combining (5.7) and (5.8), and by Proposition 3.1(6) and Lemma 3.4(1) we get  $\neg t \subseteq I$ , whence

$$\neg(\neg(x \sim z) \sim \neg(y \sim z)) \cap I \neq \emptyset.$$

Since  $I$  is absorptive, we have  $\neg(\neg(x \sim z) \sim \neg(y \sim z)) \subseteq I$ . This means that  $x \sim z \equiv_I y \sim z$ . By transitivity, similar to the proof of compatibility of  $\equiv_I$  with respect to  $\wedge$ , it is proved that if  $x \equiv_I y$  and  $z \equiv_I w$ , then  $x \sim z \equiv_I y \sim w$ . Therefore,  $\equiv_I$  is a strong hyper congruence in  $H$ .  $\square$

We notice that  $\equiv_I$  is not regular, in general. But when  $H$  is a chain,  $\equiv_I$  is regular. To see this, assume that  $[x] \leq [y]$  and  $a \in [x]$ . Since  $H$  is a chain, we have  $x \leq y$  or  $y \leq x$ . If  $y \leq x$ , then  $[y] = [x \wedge y] = [x] \bar{\wedge} [y]$  and so  $[x] = [y]$ , whence  $[x] \ll [y]$ . If  $x \leq y$  and  $[x] \not\ll [y]$ , then there exists  $b \in [x]$  such that  $b \not\leq l$ , for any  $l \in [y]$  and so  $l \leq b$ , for any  $l \in [y]$ .  $[x] \bar{\wedge} [y] = [b] \bar{\wedge} [l] = [b \wedge l] = [l] = [y]$ , means that  $[y] \leq [x]$ . Hence  $[x] = [y]$  and so we must have  $[x] \ll [y]$ , which is a contradiction. In any case, if  $[x] \leq [y]$ , then  $[x] \ll [y]$ . Hence  $\equiv_I$  is a regular.

Therefore, considering Theorems 2.4 and 5.4 we get

**Theorem 5.5.** *Assume that  $H$  is a symmetric good involutive hyper equality algebra which is also a chain. If  $I$  is an absorptive strong hyper equality ideal of  $H$ , then  $(H / \equiv_I; \bar{\neg}, \bar{\wedge}, [1])$  is a symmetric good involutive hyper equality algebra which is a chain, as well.*

## 6 Conclusions

The results of this paper are devoted to introduce (strong) hyper equality ideals in bounded hyper equality algebras which is a generalization of ideals in bounded equality algebras. We presented product of bounded hyper equality algebras and we characterized several important properties (strong) hyper equality ideals in product of hyper equality algebras. Also, we studied relations between strong hyper equality ideals and hyper deductive systems in good bounded hyper equality algebras. Moreover, we constructed a hyper congruence relation via strong hyper equality ideals in good involutive hyper equality algebras, which can be regular under suitable conditions. There's still some open problems, which could be interesting for the future researches.

## References

- [1] R.A. Borzooei, M. Bakhshi, O. Zahiri, *Filter theory on hyper residuated lattices*, Quasigroups and Related Systems, 22 (2014), 33–50.
- [2] R.A. Borzooei, F. Zebardast, M. Aaly Kologani, *Some types of filters in equality algebras*, Categories and General Algebraic Structures with Applications, 7 (2017), 33–55.
- [3] R.A. Borzooei, B.G. Saffar, R. Ameri, *On hyper EQ-algebras*, Italian Journal of Pure and Applied Mathematics, 31 (2013), 77–96.
- [4] X.Y. Cheng, X.L. Xin, Y.B. Jun, *Hyper equality algebras*, Quantitative Logic and Soft Computing, Advances in Intelligent Systems and Computing, 510 (2016), 415–428.
- [5] L.C. Ciungu, *Internal states on equality algebras*, Soft Computing, 19(4) (2015), 939–953.
- [6] P. Corsini, *Prolegomena of hypergroup theory*, 2nd Edition, Aviani Editor, 1993.
- [7] S. Jenei, *Equality algebras*, Studia Logica, 100(6) (2012), 1201–1209.
- [8] F. Marty, *Sur une generalization de la notion de group*, The 8th Congress Math. Scandinaves, Stockholm, (1934), 45–49.
- [9] V. Novák, B. De Baets, *EQ-algebras*, Fuzzy Sets and Systems, 160(20) (2009), 2956–2978.
- [10] A. Paad, *Ideals in bounded equality algebras*, Filomat, 33(7) (2019), 2113–2123.
- [11] M. Zarean, R.A. Borzooei, O. Zahiri, *On state equality algebras*, Quasigroups and Related Systems, 25(2) (2017), 307–326.
- [12] F. Zebardast, R.A. Borzooei, M. Aaly Kologani, *Results on equality algebras*, Information Sciences, 381 (2017), 270–282.